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Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer any ten from the following as
directed : 1x10=10

oo AR 41 R @ w=br FefrEm Sl
fa

(a) What is aggregate demand?
SrafEs iz &2

(b) Express effective demand in a four-
sector system.

oI} RS rafew ey wifdnr oo <1 |
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()

(d)

(e)
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(2)

What is open economy?

T A 9

Mundell-Fleming model assumes that
capital is

TeeT-GrR SRS e oz a1 =
(i) perfectly mobile
A 5o 1361
(@) perfectly immobile
(et oo R
(if) imperfectly mobile
ST bom f3p1
(Choose the correct option)

(o= RFweh AR o)

What is the shape of long-run Phillips
curve?

%ﬂ'ﬂﬁhﬁsﬁﬁﬁmﬁwﬁﬁm?

The aggregate supply function at full
employment is

1l Ficael Sz ST s Fan 2

(i) more elastic

Higs Rfegree

( Continueq )

(g)

(h)

()
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(3)

(i) less elastic
9 RRfemere
(i) pérfectly inelastic
Fjefac wiRfeRe
(Choose the correct option)

(o Resicor Aifz Sferea)

Who developed the purchasing power
parity theory?

FY FIONR Ol OGOl (e Ao S 2
Define asset market.

SR IGRY A& e |

What is Capital Account in Balance of
Payment (BoP)?

G ST Jera f2p19f & 2

At the point of effective demand
ey v e
(1) aggregate demand = aggregate
supply
R o1 = A s

(i) aggregate demand > aggregate
supply
SHES B > A @
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(k)
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(&)

(i) aggregate demand < aggregate
supply
AT ifRAl < TS @i
(iv) Both (i) and (iii)
(i) S (iii) T
(Choose the correct option)

(e ol AfR Sferean)

Supply inflation is caused by
QIS JAPRIST IR 2
(i wage push

TR ol
(ii) mark-up pricing

TE-1% o
(iii) profit push

“Areq 2Dl
(iv) All of the above

ST HIBIREAN

(Choose the correct option)

(o= Remsichr MR Sferear)

{ Continued )

U

(m)

(n)

(o)

(p)
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(S)

The natural rate of hypothesis involves

AT 291 S TS T

(i) adaptive expectation
Sfecaiérs e

(ii) rational expectation
s deP

(i) Both (i) and (ii)
(i) S (i) T

(Choose the correct option)

(= =FsicoT iR Sferean)

Write one measure to control cost-push
inflation.

FeiTe Jurdife gt FiEte <o Sem s |
Mention the I-S components of
Mundell-Fleming model.

ToF-@RR W Aeg-RAER  SameeER
e 41

Define arbitrage in international
payment.
EEfee SmEe SREss sice T |

What is international financial market?

HEEfes 8y a[ &2
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(6)

(@9 Write one criticism of effective demand.

&y BRSBTS fore |

(r) The concept of foreign trade multiplier
was developed by

QTP AR B (RACHT SRS FRf%E
(i) R. F. Khan
[, 9F. 419
(@) J. M. Keynes
(&, 99, FFR
(iii) Samuelson
CRICHT=A
(Choose the correct option)
(o= Reschr R Sferear)
2. Answer any five from the following : 2x5=10
oS AR “[1 & @I “i56R Teq f

(a) What is Eurocurrency market?
A1 @ @ %2

(b) Define natural rate of unemployment.
R e 2=a viceat foa | |

(c) What is meant by mark-up inflation?

-9 qurRfew & @ o

A23/179 ( Continued )

{ % }

(d) Write the reasons for inverse
relationship between inflation and
unemployment,

Wwﬁa@wwﬁﬂ—mﬁﬁm
T fe |

(e) Mention two assumptions of Mundell-
Fleming model.

o -@rfi SR o1 SSHRe S 41 |

(f) Define effective demand.

sifer wifee vige e |

(g9 What are the determinants of
equilibrium rate of interest?

SR E e AR 6 2

(h) In what way expectation influences the
rate of exchange?

FSPIE I 490t HA TS 2SR 30 2
(i) Mention two limitations of adaptive
expectation.
e qeR 1 STREeT Sray 34 |
() What is foreign trade multiplier?
T e @< 2
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( 8) (9)

3. Answer any four from the following : 5x4=20 () What are the prerequisites of Keynesian
theory?
e A 1 i len wifer e fimn fae
: @I TG TR fF 6 2
(a) Explain briefly the monetary approach
to Balance of Payments (BoP). (g9 What is aggregate supply? How does
GFTR TWOR (BoP) Wi Tﬁ@{% 2 aggregate supply curve determine in
% T Keynesian economics?
AEAE @6 2 @Epe wdafe A
(b)) Write a note on Dornbusch’s Qe @41 fed e 91 =1 0
overshooting model.
LT ‘lq’@rqy%n\ IR e 9B GBIl (h) Explain the concept of demand-pull
321 | inflation.

SIfRA-Jfasiee JurRIed SREICET < 4 |

(c) Distinguish between spot and forward
exchange rate.

=% 9% TRE R TR Tme ok : 4. Answer any four from the following : 10x4=40
Y& | Sero fEARE #41 f e v e firn

(d) Briefly explain the components of (@) What if‘; ra.te of excha:_l.ge?_ Explain the
international financial market determination of equilibrium rate of

) exchange. 2+8=10
SEEiies REW @mE Smrmz oyt
1 | b i 29 &2 s R 2w R fdf
41 2, A 3]

(e) How does natural rate hypothesis
explain the unemployment-inflation (¢ Expla Gunitd e Felione]
relationship? expectation hypothesis.
T TN S PR W TR Afes doPE SEFGl SIS TR
ST (TR 9041 e, foei | T 364 |

BRI | ( Continued ) AZS/ 179 . ( Turn Over )



(c)

(d)

(e)

(g)

A23/179

(10 )

Explain the asset market approach to
determine exchange rate.

ey 29 fAdee IfRtE srm @R giEsem

BRI EIN

Establish the relationship between
foreign trade multiplier and marginal
propensity to import.

et AR 9% U AR Sl
HTTOR &4 STECH] T4 341 |

Discuss the Mundell-Fleming model in
terms of monetary fiscal mix policies

under fixed exchange rate with perfect
capital mobility.

A e R G R zde

-G (e % gt fy Mo
SIS

Discuss the determination of
equilibrium  level of employment
through effective demand.

ew vIfens wf<Ece S e e R
e =1 =, e = |

Examine the police effectiveness of
Phillips curve.

fefeiom @R fSsre Irtefer =R < |

( Continued )

(h)

(i)

1}
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(11)

Explain the purchasing power parity
theory of exchange rate.

RAT 299 @ FIOR AT ©Go! IR0 797 |

Explain the determinants of aggregate
demand.

Sl oReR AR i 4 1

Explain the factors that cause
fluctuation in the exchange rates.

R z9e wfTer s T FRemz I
0

* k&
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